ROREEZE Y v b No.7 (HEZEP.26~28)

<K >

[1](1)

224 3x + 2
=(x+1D(x+2)

22+ 8x + 12
=(x+2)(xz+6)

2 —4x + 3
=(x—D(x—3)

22 —9r + 18
=(x—3)(x—6)

2+ T7r—8
=(x—1D(x+8)

2+ 3x— 10
=(x—2)(x+5H)

2 —8xr—9
=(x+1D(x—9)

2+ x—30
=(x—5)(xz+6)

a’—ba+4
=(a—D(a—4)

yr—x—2
=+ Dy—2)

(2)

REREE

24+ Tx+6
=(x+1(x+6)

2+ 1lx + 24
=(zx+3)(x+8)

2 —8x+7
=(@—DE—-7

22— 10x + 16
=(x—2)(xr—28)

x2+xr—6
=(x+3)(x—2)

x2+2x—35
=(x+5)(x—-17)

2 —9x—10
=(z+ 1D(x—10)

2+ T7x+ 10
=(x+2)(x+5H)

a’+2a—15
=(a+3)(a—5H)

2410t + 21
=(+3)t+7



